
 – let’s break it down   

    –    
   

     

   

    

        

If it’s a 2 it’s a U!

 

 

     

 

   



𝑓(𝑥) = (𝑥 − 1)(𝑥 + 3)

         

       

    

  

    

  

    

  

    

  

    

  

    

  




